


x varies directly as (y?+z%). Aty = 1 and
z =2 the x is 1 5. find the value of z
whenx =39 and y = 2.

X &I AL (y? + zZ)$W%ﬂﬁy=1
Wz=2@ @ x= 15§l z FT A A T3
dex=393Ry=2¢

@ g AT 3
(€) & (d) None_



Concentration of three wines A, B, C
and 10% 20% and 30% respectively.
They are mixed in the ratio 2:3:x.
Ow;_- 23 resulting in a 23% concentration

5.'-% lw solution find X.

dleT eI A, B, C &I ¥igar #AM: 10% 20%
80+ =-Il§«|'23‘& I 30% & A.B, dUrC # 2:3:X & He[ard A
Ix=2S

e srar 81 owsd TR |gar 23%
@ & STt & @Y X &7 AT AT Y

(a) 7 (b) 6
J2) S (d) 4



The sum of three numbers X.V,Z is 5000.

If we reduce the first number by 50, the
slecond number by 100 and the third

number by 150, then the new ratio of x
vyv=4:5&the newratioof y& z =3 :

qu 4. Find the value of .-J-I-: y.
1€ fr et x, y, z #1 49T 5000 ¥l AR FA

(1-_1_%1” Ugell WEAT N 50 F UTHT ST , TUT qEA

HEIAT Y 100 ¥ "germ 1w, 3 Il g ar #i

'?:,'—-’m 150 ¥ T ST, df x AR y T 7471 HeUrd =
_m- 4:53ﬂTyHﬂTz$rHTITSI§¢I'IH=3:4GT
._35&, ST drx +y AT aar3 |
(a) 3560 (b) 30L€

(c) 3650 JH” Nows,



Sugar worth Rs 50 per kg an s 100
per kg is mixed iith rd variety of
sugar in the ratio 1:2:3. If the price of
the mixture is Rs 150 per kg. what is
the price of the third variety.

50 $9% gfa f&Fam 3R 100 39 wfa fFam &
it Y A A & A F §Y 1:2:3 &
Feqara A remar smar @1 afe Fswor fr fera
150 ¥93 gfa fFam g1 it e & A= $ir

AT 74T B

(a) Rs 186.23 / kg (b) Rs 196.21 /kg
¢c) 216.67 /kg (d) 226.67/ kg




If P= Q-= 2 and R=l, then

95 x 97 96 x 98 97
find the ratio of P: Q R.
95 X9 96 X 98 97

2 et
Q6X989SAR  P:Q:R 1 AT g
A4] 962x98: 95x972:95x96x98
) 96x97x98: 95x97x99: 95x96x98
%:) 962 : 982: 982
Nd) 992 : 952 : 972



IfP = 229)(32' )(5%, Q = 227)(321)(53’
R = 226x322x58, § = 225x322x59 find the
ratio of P:Q:R:S.

Ifg P = 229x32! x ¥, Q = 227x321x58,

R = 226x322x58, § = 225x322x59 @ P:Q:R:S
“

&T AT I
2 C;K V‘d‘flﬁ:4:‘€;\1’5 2:<
: e )l i i 2.1
e GG} 5
d4:1:6:15
o




TW® number A and B are such that the
sum of 6% of A and 4% of B is two third
of the sum of 7% of A and 8% of B. find

6 n ""1 B — ;(3&{'35)113 ratio of A & B.
B

S I AGAT BSY UdR & {6 A D 6%
AT BD 4% BT AT, AD 7% dAT B 8%

‘1&:\‘8 mﬂmgé,ﬁAaﬁ?Bmaﬁmﬁﬂm
-.-.-.-_\_ Jaf1:1 (b)2: 3
\

5 (c)1:3 @ (d)2:1




@
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The ratio of Jim salary for October to
his salary for November was 1.5:1.333...
and the ratio of salary or November to
that for December was 2:2.666... The
worker got 40 rupees | more for
December than for October akd received
a bonus of 40% percent for thregmnth

find the bonus.
S @l rdcay H YW 3T e AdER H

YT 3MF &I J[urd 1.5:1.333... 7 Al
Y 9T f@EgsR @1 A ST U
2:2.666... & dfc 94 fauwR # Iacaw @)
IAAT 40 ®UA AT 9Td g4 &8 aAT oAl
HEIT B ATT BT 40% Wicd & ®U H ferar
g O SUBT & Hedl S1d B |

(a) Rs 368.888 (b) Rs 152.5555

(c) Rs 222.22 J#’Rs 265.6




q In a class the ratio of the number of
boys to that girls is 2:3. The ratio of the
'6 2(, number of students"?v'lw passed to the
number of the those who failed is Ej
q Q' P Qs Among boys the ratio of the number of
those who failed to the number of those
lQ 3 F Is who passed is E_l‘ What is the ratio of
the number of girls who failed to those

who passed.

32\ Uh HAT A dsdl X dsfeal # G B
’ quudz:aﬁ:efﬁﬂfaﬁ?aﬁfﬁﬂfsﬁaﬁ

BTAl & AT &1 IJUTd 5:3 8 widfd IdIof
IR Igelivi B9 ATl dSdl DI A=A DI

(a)1:5 ) 1: 7 grqura $:R2 Scfivf ol arpefiof arsfrar &
(c)2:7 (4)2 : 5 arerarey 7 2|
(a)1:5 (b) 1:7

(c)2:7 (d)2:5



A and B share a piece of land in the
ratio of 3 : 4 each of them grown rice
and wheat in this land and the entire
land is covered by rice and wheat in the
ratio of 4:3. If the ratiagf rice to wheat
grown am land i Then what is
the ratinm to wheat grown on B’s
land.

AR B :4 @ IJUrd 4 &S &I Grl
&¥d =& <iFl 39 A W FEad AR g B
ddl &vd 2 3 & g q gEa @i 18
& Gl & A% BT IqUId 4:3 2, IR A
® HABA BT AqUd 5: 3 2 df Bd A #
Uqr fy 1 arad AR AE. BT AqUTd T
e |

(a) 15: 14 (b) 16 : 13

(c) 17 : 15 (d) 18 : 17




If the geometric mean of (21-x) and (35-
x) is (27-x). Then find the value of x2.

afe (21-x) TAT (35-x) BT [UNTR AT (27-
x) 8 1 x2 T 719 qara

R

2. Yok
(R4-2)= Rl (asx) E
Y
?



If \/0.04x0.4x = 0.4 x 0.04\/5 then ratio of

X:yis

Irféﬁo/}:ko.ﬁ =0.4x0.04J{fﬁ X:y @I
{1 B

(a) 0.0016 (b) 0.16

e 0.016 (d) 16

© %:Q-NQ



If (x-a) : (x-b) : (x-¢) = 11:9:5 where x =
a+b+c

the ratioofa : b : c is.

Uﬁ'*[x-a):(x-b):(x-c)=11:9:5692lTx=
a+b+c
2
(a) 10:8:7 (b) 3:5:9
(d)6:5:3

dl a:b:c &I 99 Idr3l |




A,B,C have 40, x and y balls with them

respectively. If B gives 20 balls to A, he
is left with half as many balls as C. if

together they had 60 more balls, each of
then would have had 100 balls on an

average. Whatisx : y.

afe A,B, T C & U HHI: 40, x AT y
g & IfC B207WT A®I € <dl & d SUD
g C $) 3N g & §vEY g gad) @,

AP = R o7 T wrw 60 H7 Ak @ At st

m 99 94 ® U9 100 i Bl & O x : y &I
o (a) 3:2 o Jpra:6
3)9((1:%:“ 85\10 c) 2:1 2 3 (d) 3:4




The ratio of two numbers is 4 : 5. If one
is subtracted from the first number, and
two is added to the second number, then
the ratio becomes 3 : 4. What will be the
ratio when eight and four are,
respectively, added to the first and
second number?

&l HEATHT FT U 4 : 5 §1 IS ggell q&am
A ¥ TH UCHT AT §, AN qE wEdmr A a
s far srar 8, @ Ie9ra 3 : 4 @ ST B

qEel 3R qEd &A1 H FAM: A 3 IR FH

SIS I HAUTT FIT TR
(a) 2:3 7] 8:9
(c) 6:7 (d) 1:5




If 3a:2b=(6a-3):(3b-2) and a=b-1, then
what wi alue of 12ab?

gfe 3a:2b=(6a-3):(3b-2) & 3R a=b-1, ar




The ratio of the ages of A and
B, 8 years ago, was 5 : 7. The ratio of
their ages, 8 years from now, will be
9 : 11. If the present age of C i@

years less than thgf of B, and the
present age of D i ars less than

that of the age of A, then the sum of
the present ages of C and D, in years,
;s%&qgﬁaaﬂrna?ra@mmqql?rsw
qT| HE & 8 Y a1 AN Y FT Hequid 9 :
11 gem I C # TdAE 3Y B HT I A
13 a¥ A ¢, 3 D A TdA 3T A F 31Y

¥ 8a¥ F7 ¢, d C 3R D & IAAE 3MY FI
2oL 1) R SISSC PHASE IX 2022




What is the fourth proportional to
13-, 9~ and 7- ?

137, 9° 3R 7% &1 Tqd FAWEE FT E?
) 5;; (b) 63,

(c) 4 (d) 7

SSC PHASE X 2022




\6 24
+K +K
> 9

The ratio of A and B is 2:3, and Bis 8
more than A. if a certain number K is
added to each of A and B, then the ratio
becomes 7:9 the value of K is?

A 3R B &1 Feurd 2:3 ¢ AR B, A ¥ 8 30+
g, 3¢ A 3R B & ¥ v+ # s AfRaa e
K # 313 ar Jrar g, at e 7:9 g Sran

& K &1 AT F497 §?
a) 10

(b) 8
(d) 16



Raju and Lalitha originally had
numbers in the ratio 4:9 then Lalitha gave
some of his marble to Raju. As a Result,
the ratio of the number of marbles with
Raju to that with Lalitha become 5:6 what
fraction of his original numbers of marbles
was given by Lalitha to Raju?

TS YT afSdr & 99 IR H 4:9 F e[ A
Aew ¥ 5 afdr & A Fo AWew IS F
¢ fGul RomaTeRy U dur dfedr & Aeew
FT AU 5:6 & AT AT o HTA IRIFHF

Atdew FT fohder ffwar e #1 Rar -
(a) 1/4 .,,@‘%;
(c) 1/5 (d) 6/19



The sum of squares of three numbers N,
N2 and N3 is 3325. Ni:N2 and N2:N3 equals
to 3:2. Find the value of N1?

isT &I N1, N2, N3 & it &1 31 3325 §.
N1:N23ﬁTN2:N3$W%H‘fN1 &I AT F7

e

(a) 30 (b) 35
(c) 40 (d) 45




130 3G

<0 Yo YL

The ratio of I phone user to one plus user
is 4:5 and the ratio of one plus user to
Xiomi user is 6:7. If I phone user increased
25% one plus user increased in the ratio
3:4 and the Xiomi increased by 20% what
is the ratio of I phone, one plus and Xiomi
user after increased?

ISR STATHATAT T TAATH ITARTHATAT T
FA9rd 4:5 § AR FEAcEw IUANTHANT H
AMHA ITTFAHF F HqUT 6:7 T

mqﬂ:rsquhmﬁaﬁﬁzs%a?rmaﬂgé,a’r
qICad  STANTRAT F AU A 3:4 3R
WA 7 20% T Tgall §§1 a9 o F TR

520 21 (b) 20:15:21 ITEHIA, FaAcod IR ABNHAT ITAHAHAT F1
(C] 21:15:20 (d) 15:21:20 HATAT FIT gEITP



A purse has rupees 34.5 in the form of
10-paise coins in

J396 : 34/99:1011

the number of 10-paise cons?

wqﬁﬁwﬁ 50 33 3T 10 9 e &

6 3@'10)%
a:smmﬁrm 45m%| 10 3 $r T
T &A1 AT FL?

(a) 10 (b) 20
c) 30 (d) 40



A box contains 590 coins of one rupee, S0
paise and 25 paise. The value of each kind
of the coins are in the ration of?

\/ E 1:3-‘4E then the number of 50
216 V 27

paise coins is?

UF &7 # 590 {FF v+ sygr, 50 47, 25 A

S

: 127 17
& 3T H zlﬁ::mm?r\/l +1: 34—
% 216 27

F Fqud A § A 50 AW Fr PRI A g
AT AP
(a) 100 (b) 110

) 120 (d) 130



The compounded ratio of (2:3), (6:11)
and (13:2) is?

(2:3) (6:11) AR (11:2) FT AT reqoar
g7
(a) 1:2 1

(c) 11:24 (d) 36:121

TR




The triplicate ratio of 1:2 is?

1:2 &1 HeTqTel g7
(a) 1:3 (b) 1:12
1:8 (d) 3:1
- duplucads.

O ()



A boy has x coins of 50 paise 2x coins of
25 paise each, 4x coins of 10 paise each
and oins of 5 paise, each. Find the

number of S paise coins if the value of all
the coins is Rs.9?

& a3& & I 4% 50 39 & x AT v3s
25 38 ¥ 2x Ras, @+ 10 19 & 4x RAeH
INTAF 5 4 & 8x RFH ¢ 5x I & Res
FifaT Ife wslt RFF #1 77 9

$T gE&AT
9T g7
LieT20 (b) 20

(c) 500 (d) 300




In a society A the ratio of males and
females is 8:5 and in other society B the
ratio of males and females is 7:9 if the sum

_.—_..________uf the males in both the society is 52 and
M WUM‘D(A &J w the number of females in society A and the

l.M B lA ql W10 'H/GM/’ numbers of men in both societies is what

".nf number of females in both the

3’&.'43':5‘?- amsfrs“mtm:?ﬁ geul 3 AfRet F1 3T 8:5
8‘3'9&7'?-‘ ¥ 3 qEy WwEd B # qewt A aRemt @
FAATT 7:9 ¥ IS AT WA A I Hr FEAT

M=) J*Y \C T 528 3 Wt B # e 1 s

AEEE A A Afgarst & gear & 21 30w §

& S R *‘mmﬁsﬁuﬁ;mmﬁwﬁm

\@:)98:- Afgeat Fr FEAT FT wiawd IgATAT FHdar
)102%13?

(a) 105% (b) 98%
(c) 99% (d) 102%

(a) 105% S )
lC) 99%



The ration of first two numbers is 6:17
and the ratio of 3 and fourth is 27:59
then what number must be added in all the
numbers to make the ratio of the first two
numbers same as that of 3" and fourth?

gl A WEAH A I 6:17 § et IR
e & 1 e 27:59 § o i AW wE;
wslt gEErat A S o1 Rdr ¢ SE ggelt @

P F dray 3t 9l & ET E S

(b) 8
(d) 3




What is the mean proportional of

3+42,12-./327
3+42,12-32 FI m'ﬂ@?h FIT ZM?

@ M 27 (b) 3J7

(c) 245 (d) -347



If a, b and ¢ are +ve numbers such that
(a2+b2): (b2+c2): (c2+a2) =34:61:45 then b-a:
c-b: c-a=?

e a, b IR ¢ A W yaHA TEAR B
(a%+b?): (b%+c?): (c?+a?) =34:61:45

36
¥ Y b-a: c-b: c-a=? 8 34

c-b: q 25 9
(a) 33-3"-"6'3 (b) 3:1:2
(c) 1:2:3 2:1:3

U1 D



If (x-g): (3x+6) is the duplicate ratio of 4:9
find the value of x

MG (x-g): (3x+6)FT FAfAT eurer 4:9 & ¥ x
FT AT & THdT §7

AT 25 (b) 81

(c) 36 (d) 45




(a) S
(c) 7

RL BH A
Wi W4 XS xy A

SIS

l

_ 3

'S
o 1i

Fe

If Rupert has 4 more coins than Laxmi,
Laxmi has 1 more coin than bill and bills
has 1 more coin than Howkins. Finally,
Howkins has 4 more coins than Azeem the
minimum number of coins that must be
transferred if all of them wish to have an
equal number of coins?

IfE 39¢ F T 4 RFF Swrer § Jar |, Jar
F o oo & 3fs ReF g3k o & o 1
e 3 ¢ aifhw & 3R 39 & gifhw &
o 4 RFF 30F ¢ 3T @ @ gean e
I TEAT FT dEGAT [FIAT T THdT § IG 3aA

(d) None of these @ wsft ey Tt $r g=oT1 WA 82



A cigarette pack is % h full of his

capacity, then 5 cigarette wear taken out
and 2 another clgaret& _ﬁs

' side the
4 =
pack, now it is @lll. How manVCigarettes

can this pack contains, when it is full?

v e #r Bedt gt amwar Eaﬂ’fg?%

Bt 59 5 e F aeY Awer 3 sar &
mqﬁmﬁmmﬁmm%a’rﬂgqﬁ

maﬁr— T ar Fasr AT 33 Redr 7 @
awﬂ%ﬂﬁﬂﬁqﬁﬂfrs’r“

u,q/ 90 (b) 80

(c) 72 (d) Can’t be determined



A dishonest milkman mixes milk to

mineral water in the ratio of 5:3, He sells
the mixture at the &ﬂ_m‘;m& and
earns a profit of 20%. If the price of
mineral water is Rs.20 per litre, then the
price of one litre milk is how much
percentage more than that of one litre

mineral water?
U ASATA qUaTell g # 5:3 AeRer gl Framar
¢ 9% 0T ) QU F FT Aed W d9ar § AR

20% T o FAE g Aate =t fr fAg
20% FT ATH FATAT & Aaa gr=T i AT 20

F9d yfaeller § @ & ofex g & fiwa &

et Aae o @ Fasr gfaerg samer &2
(a) 50% (b) 60%
(c) 75% \# 80%




A container contains water and alcohol in
the ratio 18:13. A man mixed 15 litre of

water in the, contagner and then ratio of
water to %‘ne container becomes
3:2. What will be the ratio, if 15 litres of

lcohol has been added?

HFea A Tl 3R eIl FT HUTT HAU:
1@13 & & =@Fd 15 HeX A
¢ af urell AR G AHe[dara FT AT
:2 g JATar § ar 15 WfieT Hodgld ST AT

(d) 33:26



